DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 4)

DIVISION

Name:

Time:

Score:
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525)

50870 + (—10) =
5.8332 =+ 0.06 =
113 + 10 =

64.442 = (—0.07) =
—5.2801 + (—0.07) =
46.77 + 0.06 =
1265.6 + (—4) =
3.27 + (—0.6) =
0.839 + 0.1 =
—0.8272 +0.02 =
1454 + (=2) =
—108.45 +9 =
1.527 +0.01 =
14924 = 0.2 =

—36.12 + (—0.06) =

Mathematics: Division - Level 6 - Horizontal - Set 4

19

526)
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530)

531)
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533)

534)
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537)

538)

539)

540)

—560.28 + 0.6 =
5.146 = (—0.02) =
—9.404 + (—0.04) =
—57.456 + (—0.06) =
~15.165 + 0.5 =
27486 + (—3) =
6.363 = 0.09 =
—52.927 = (—0.7) =
—153.9 + (—6) =
81.06 =+ 1 =

—628.47 = (—0.9) =
71.7 + (—0.03) =
108.6 + (—0.05) =
11666 + (—2) =

—905.7 + (—0.1) =
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